Inclination for AS-506
input position
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Equatorial radius of the earth, Fischer elltpsoid
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Polar radius of the earth
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launch azimuth of the vehicle
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Rotation from downrange to East-South pad coordinates.
[image: image16.wmf]u

1

v

1

w

1

æ

ç

ç

ç

ç

è

ö

÷

÷

÷

÷

ø

sin

q

0

(

)

0

cos

q

0

(

)

-

0

1

0

cos

q

0

(

)

0

sin

q

0

(

)

æ

ç

ç

ç

è

ö

÷

÷

÷

ø

u

v

w

æ

ç

ç

ç

è

ö

÷

÷

÷

ø

×

:=


Geodetic latitude of the launch pad
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Longitude of the launch pad
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Rotation in the meridian plane of the launcher.
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Geocentric Latitude
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Translation of the origin to the geocenter
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Radius magnitude
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Incremental longitude
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Geocentric latitude (declination)
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Velocity Transfomations
Rotation in the tangent plane
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Velocity Magnitude
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Rotation in the meridian plane of the launch pad.
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Rotation in the equatorial plane through longtitude
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Rotation in the meridian plane of the vehicle
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Earth rotational rate
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Conversion from rotational to inertial velocity.
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Velocity magnitude
[image: image38.wmf]V

i

dx

2

dy

i

2

+

dz

2

+

7793.122

m

s

=

:=


Heading Angle.
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Flight path angle
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Угол наклона вектора скорости

к горизонту

Inclination angle
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Ground range from the launcher (arc length)
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Elevation angle of the vehicle, referenced to the launcher
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